
Take out the notes you took on the loan practice on local and
global debt. Compare and contrast what you found with your
randomly generated group and prepare to share with the class.

Recall prohibitions against charging interest on money to
members of the local community (usury), but was ok for global
strangers—lending to one’s neighbors was considered
philanthropy and part of a giving back to the community.
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Richard Feynman quote connects geometry to finance

doorofperception.com/wp-content/uploads/doorofperception.com-richard_feynman-2.jpg

There are 1011 stars in the galaxy. That used to be a huge
number. But it’s only a hundred billion. It’s less than the

national deficit! We used to call them astronomical numbers.
Now we should call them economical numbers.
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Loan Payments and Amortization
payment =

loan amount r
1 − (1 + r)−n =

14500 .12
12

(1 − (1 + .12
12 )

(−12×4))
=

$381.84

Work with your group on the amortization table:
month Payment Interest Paid Principal Paid Loan Balance

1 381.84 $145 $236.84 $14,263.16
14500 .12

12 381.84−145 14500−236.84
2 381.84 $142.63 $239.21 $14,023.95

14263.16 .12
12 381.84−142.63 14263.16−239.21

3 381.84 $140.24 $241.60 $13,782.35
14023.95 .12

12 381.84−140.24 14023.95−241.60
Work with your group on the total paid and total interest:

total paid = 381.84 × 12 × 4 − overpayment (none here)
total interest = total paid - loan = last response − 14500
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Credit Card Finance Charge=Interest Paid that Month

finance charge = monthly interest

= average daily balance × periodic rate

= 449.67 × .179
12

calculate and compare with $6.71 shown on the statement
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Algebraic Ratios for Finance
Dividing reward/risk is a common ratio to compare risk
versus reward. Risking $500 to gain millions in a lottery is
a much better investment than investing in the stock
market from a reward/risk perspective (millions/500).
However, it is a much worse choice in terms of the
probability of losing all your money!
debt-to-income ratio
35% =

monthly debt
monthly income. What if the monthly debt is $700?

http://stopthedebttrap.org/takeaction/ndoa/kansas-city-story/
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